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26.

27.

28.

29.

30.

MATHEMATICS

sand + seven =
Seventeen lakhs + seventeen hundred + seventeen thousa teen = Hoy,
much ?

(1) Seventeen lakhs seventeen thousand seven hundred and seventeen

(2) Seventeen lakhs eighteen thousand seven hundred and seventeen

(3) Seventeen lakhs seventeen thousand eight hundred and seventeen

(4) Seventeen lakhs eighteen thousand eight hundred and seventeen.

How many years will be required to double the principle amount of Rs. 5000/

- by simple interest at the rate of 4 p.c.pa. ?

(1) 50 @2)5 (3) 15 ) 20

What will be the product of a greatest 5 digit number and 2 digit greatest even

number ?
(1) 98 99 901 (2) 98 99 802
(3) 97 99 804 @) 97 99 902

How many days after Balika din, falls Republic Day ?
@) 23 ) 24 :
3) 22 4
)26

Neha's father deposited Rs. 10,000,
; - 10,000/- on her 1st birth,
. d i
in bank. What amount will her father recejve on hci;y;:lt:f.: ra;e ofBPg
irthday ?

(1) Rs. 14000 (2) Rs. 148
- 14800 (3) Rs
. 15000 (4) Rs. 15800

mmmm“
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3) 15
28. 5 w030 @BDE JopfH
1) 9899901
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29. 0% 658,
1) 23
=) 5]

30.55° &%) Jod, &
355, @ond e e

(1) 14000

Beod B 5000 0% 3¢ eI 8830

2) 5
4) 20

‘2’ sodo @3DG, 0 50:)595‘ Moe3cDSS ono Jod SBRHH?
2) 9899802

4) 9799902

335 Soxs 39 ol Keadod, 05 B, 550 Hi8%M?

2) 24

4) 26

(2) 14800 3) 15000 (4) 15800
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31. 70 Hectograms = How many gms. ?

a 7 (2) 70 (3) 700

4) 7000

32. 39 students collected Rs. 525 each for picnic. It had 40 notes of Rs. 500 4y

remaining were Rs. 5 notes.

How many Rs. 5 notes were there ?

(1) 95 @) 25 (3) 45

4) 85

33. Sunanda Tai earned a profit of Rs. 17000 by the sale of pomegranates. She hag
spent Rs. 7000 on plantation, Rs. 5000 for pesticides, Rs. 3000 for labour and

Rs. 1000 for transportation.
Then, find the selling price of pomegranates.

(1) Rs. 23000 (2) Rs. 33000 (3) Rs. 1000

(4) Rs 13000

34. The breadth of a rectangle_ is equal to the side of a square whose perimeter is
24 cm. If the perimeter of a rectangle is 28 cm, then what will be its length ?

(1) 4 cm (2) 6 cm 3) 7 cm

(4) 8cm

35. There are chairs from no. XXVII to LXVI in a row at an Auditorium. Then

how many chairs are there in the row ?

1) 38 ) 39 3) 40

36.
number is divided by 16, what will be remainder 9

(1) 180 )4 @) 6

mm_&mu

0701/ Telugu Set-A 120f32

(4) 48

@) 14

A number is divided by 15, the quotient is 12 anq remainder O, If the same

P10

31.70 s mSved = IR e ?

7 (2) 70 (3) 700 (4) 7000
32258087, TEL 39 306 Iogsyer 58 ef s 525 6 2% Jed. wers’ 500 8 ased
40 Foay 200050 WADID 5 ErIrahe Ty Acd. wond Bk 5 Erddbe Sty I

God?
(1) 95 ) 25 (3) 45 (4) 85

33,0808 sy 38 g, wayte Sod 17000 65 oo Tobod. 520 TASY Jog, I&,Ted
TGd8 7000 87, Sodien 39628 5000 850 o> 3000 S H0csn Sove $6% 1000
6 983 Bhod. wond oA Jog BuY, 2o LIRS o Jos?
(1) 23000 & (2) 33000 &5 (3) 1000 85 (4) 13000 55

34. 24’ 20.5% 3enTod o SS08T0 030E), 2.8 Fizo sod AEIBBI0 BNY), dEe) BoO.
58 S8u8F0 Bw¥) SexnTed 28 0.0 &3k ond B8 S83830 Y I8 Jod Godo0?

1) 4 20.D 2) 6 20.2 3) 7 0.2 4) 8 0.

35. Serr)Srané’ 28 S560%6° XXVII S00d LXVI 3855 &ay Sonby, aamow. vand e 58:56°
2Wdo I Hey, daToN?

(1 38 @ 39
(3) 40 4) 48

36. 2.8 Sopg 15 & 27 AoDSS Ao wrhosnd 2riises 12 Sy, vl Soggd 16 3
2 AoDILI, & FA80 Jod Suy?

(1) 180 @) 4
@) 6 @) 14
SPACE FOR ROUGH WORK
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37.

39.

‘What is the difference between the number with place value of hundred and

the number with a place value of one-hundredth in the number 318.43 2 37.318.43 54 50:;3&:) So60 350 Y, ©oE BB Ferod 0 A8, w03 A3 2,08
20358 Jodd BBo &oB?
(1) 30003 (2) 3003 :
(3) 300.03 ) 299,97 | (1) 30003 @) 3003
. 3) 300.03 4) 299.97
Rutuja bought 6 kg. wheat at the rate of Rs. 35 per kg., 3 kg. jowar at the } ) @22

rate of Rs. 32 per kg., half kg. tea at the rate of Rs. 280 per kg. She gave a

500 rupee note to the shopkeeper. How many rupees will the shopkeeper return
to her ? :

(1) Rs. 446 (2) Rs. 186
(3) Rs. 54 ' (4) Rs 64

38, Gye: 35 87 0% 38 36" 66 & 6 86, misne Rgde, 32 6. 0% 50 36 §6 & 3 86,
mysno FB)o) $005) 280 6. 0% 58 36" $88° wbEs’ Ko05F)) TAW. & KFHTLINE
500 Gom.0 F'en gdyo0. BOND HFHT GG Lk IR BrIrcasies BOA FHEIOD 7

(1) 446 o> (2) 186 6

(3) 54 o (4) 64 6
Kolhapur—Ahmednagar bus started from Kolhapur with 25 passengers. At
Karad, 12 passengers boarded the bus and 4 women got down, At Satara, 16
passengers boarded and 9 got down. At Pune, some passengers got down. If,
at Ahmednagar 15 passengers were remaining, how many passengers got down
at Pune ? !
(1) 25 2) 29

3) 23 ) 34

39.80 356 - wr5 858 vy, 25 508 HESPIGOD BWED, By g8 06 pAAB0S.
Bod5 56, 12 5200 Hosreitoo wknd® I8)58 H005% K6 & o BATE:. Gar ¢

16 B30 BoSTeAE05 27, a?,a-zso. 50055 9 B06 OATE. A6 Tolsts
 wiy BN BOYE @SEHNE 6 15 900 Hosrites DNDTE:, wond 47-4 -
Bosredtioy wvy OND? : -

(1) 25 2 29
(4) 34

(3) 23
40,806 b0 5186 0 5008 Aoy Aol ¢

Which digits will occur in place of [J and A, respectively, in the
example 7

ooo oooo
xAAA
1TOBBY
(1) 3,3 2 1,9
3) 0,9 “) 4,5
HPACKLONIOUGILYOMK
0701/ Tehug Set-A N V) r_.'r.‘b..
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9 2
41. By how much is 5% of 100 less or more than 10% of 10 ?

(1) More by 4 (2) Smaller by 4

(3) More by 5 (4) Smaller by 5

42. Identify the figure in the series.

ADAADOAA 2
® (@ @ A\
3 (@) (@ @ A\

43. Rohit gets a monthly salary of Rs. 18000 per month. He spends %lh part on

4 n 2 s
petrol, Edz part for domestic expenses and ath part on bank instalment and
saves the remaining amount. How much amount does he save ?

(1) Rs. 2000 (2) Rs. 8000

(3) Rs. 4400 (4) Rs. 9000

44. Netrali purchased 2% Itr. milk everyday for first 15 days of September. On the
remaining days, she purchased 1% It. milk at the rate of Rs. 52 per It. How
much did she spend in the month of September 7

(1) Rs. 1320 (2) Rs. 3120
(3) Rs. 3140 (4) Rs. 2350
SPACE FOR ROUGH WORK
0701 / Telugu Set-A 16 of 32 p.1.0:

" S

41,100 & 5 eSc 30 10% 8 10 $37) Jod$ DH0 Glay 2806 ?

(1) 4380 (2) 4 9%

@) 3380 @) 59090

42. $5008" 533 %) Kodood.

AOAADE®A A 2
m @ @
3 (@ @ ORVAVAN

1 4
4358 © 59 do 18000 SIche d8Tc oo, wod’ 9 Jod eFe, 9 Jods ot
2
PBRSH VAR g ToBd TP LoSS PBy 35 NS Canes eSS FEHY IS sond
OS5 JoS Eao TSP 3TE?

(1) 2000 5= (2) 8000 &>

(3) 4400 &5 (4) 9000 &>

44,3670 33008 dod 3G 15 Berer SotoB)d Heody Treo BASL WABS Faren 25L8HS
Doty Jen 52 5.0 8 Sty 588 TaD. sowS S o So IY) SrIrabes PEY

3oB?

(1) 1320 & (2) 31208
(3) 3140 5> (4) 2350 &>
SPACE FOR ROUGH WORK
17.0£32 PT.O.
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4 on the
I Question 45 and 46 : Answer the questions L

pictorial informatiop_

| pen 8 = W8
{ : Saplings in the No. of saplings
N
| Rosem g S %
-!'. Hibiscus g g g &
f: -
i
|

Scale: 1 picture = 10 saplings

45. How many saplings are there of Hibicus, champa and Jasmine in all ?

J (1 70
1] (3) 90

@ 80
) 110

‘ 46. How many more number of saplings are there of Rose and Jasmine than that

of Hibicus ?
a1 20
3) 50

.

il Write the correct number in the
(1) 275
(3) 125

(2) 10
@ 30

i gl e ol
47. 5 of 25 + 5 of 100 = < of []

box.

. 208 3G e - g g g g

0701/ Telugu SetA

45 00c 46 806 DS, ErD I 3880 esgrBore 3800 20 CASVBD.

AogSS806'D W0 Somg
Y oy

oD 2fes - g g g

Loars 20K 00 - % g
¥S550nbo e - é g

- S5m0 -1 D80 = 10 2 e0

! 45. 208, Hoc8 HOAY §FTowTe ndo 2K e IY?

:"'“ (1) 70 ) 80 i L
3) 9 @) 110

| 46D 500 Sonro ke Soag 208 €0 Kowg Lotd

e (120 @ 10

BROR] )30 ‘

47.25 ¢ L I e 1
»47.25&)36&.;;+100§336q_—,'ﬂ§5

) 275
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48. What decimal fraction does the shaded portion in the following figure indicate 2

49. Aditya was born on Saturday 14th Jul. 2001. What was the day on his eightth

birthday ?
(1) Saturday (2) Monday
(3) Tuesday (4) Wednesday.

50. Which symbols will occur serially in the boxes in the following expression ?
600200100505 =148

M = —x + D%+ - @ nxt - @)%

51. What will be the product of the place value of the digit in ten thousands place
and the face value of the digit at the thousands place in the number 58279 ?
(1) 1000000 (2) 1000

(3) 10000 (4) 100000

52. Joseph used 20 guires out of 1 Ream for xerox. How many sheets are remaining

with him ?
1) 24 )0 (3) 12 (4) 480
SPACE FOR ROUGH WORK
0701 / Telugu Set-A 200f32

P.T.0.

48. 300 ©5%)36°D 837088 oo O Serod DI FrDHO?

(1) 14_6 2 — (3) 0.25 (4) 4.16

49. 2085 14 23 2001 &' 30780 >t 2o, oS S WSS HIS T O THIW
SoGD ?
(1) %50 (2) T80

(3) HoKSZTo (@) @550
50. 208 33d3 BAS' EHrSurr 5 I3 DFyeo I8nI0?
6020100505 =48
(1) = - x, + @ x, + = —

B) = x + - ) = + x, —

51. 58279 &= :magé‘ 3830 J2 S0 o3 0E), 28 IS DOAL Sode 3;:» SoSANY), 58)o>
oD Y, METE 00 JoS?

(1) 1000000 (2) 1000 (3) 10000 (4) 100000

52. £25 1 85 sheros’ 20 530 SAs 0D 20§, SHo a0, sonsS S5 35 ) sShow
Doroedsy?

(1) 24 20 G) 12 (4) 480

SPACE FOR ROUGH WORK
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© 53. What is the sum of all divisors of 133 ?

(1) 134 (2) 145 (3) 160 () 151

1 3 1
5§4. How many meters should be subtracted from 10-5 m and 4 M get 55 m.
as remainder ?

(1) 475 m (2)525 m (3) 425 m (4) 575 m

35, In a company, 95 workers work on same salary. The company needs Rs.
807500 per month for their salary. Then how much salary does every worker
get ? i
(1) Rs. 9500 (2) Rs. 9400 (3) Rs, 8400 (4) Rs. 8500

56. Of the following, which object will have all its surfaces in square shape ?

(2) Compass box
(4) Match box

(1) Brick
(3) Cubical box

57. If the below given figure is folded to make a cube, which colour will not come
adjacent to red colour ? k

(1) Blue

56, 300 T3S’ D S B, o) S SHBY, B5BS azmo0 7 i»

53. 133 a8, o) eraste 2wdo Jod?
(1) 134 (2) 145 (3) 160 @ 151

54. 5035 Doty 30K 393 Soeotly B3 Jgedt 29) Doty B3E Ters Doty
oosSs?
(1) FH33 0 2) =&z
(3) Teorowry) @ >y B89, e8>

55. 28 $030" 95 q%en H378 $8%0 P 30 3B 70 3550 TEH LoD 58 30 807500
B 3rafes BSK80. wonS 53 0L Job S350 eoSode? '

(1) 9500 " (2) 9400 (3) 8400

(1) gexs (2) 30> 3¢y, 3) =5 3%,

57. 808 &%)8 HED P SETEIVIT I Bolhy DY, 58, Soo &
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58. For the following fractions, which <, >, = of the signs will be appropriate 7

7 1391
7%
o < = 2) < <
3 > = @ < >

59. Sonali purchased a house at Rs. 37,50,000. She made furniture for the house
worth Rs. 7,25,000. At what price should she sell the house to gain a proﬁt
of Rs. 5,25,000 ?
(1) Rs. 5,00,000
(3) Rs. 44,75,000

(2) Rs. 50,00,000
(4) Rs. 49,50,000

60. The diameter of a circle with center B is the radius of circle with center A. What
is the length of seg. AB ? ;

61. What is the sum of odd prime numbers between 1 to 50 ?
(1) 328
(3) 303

(1)3 cm
3) 12 cm

(2) 6 cm
(4) 2 cm

@ 326
4) 273

62. Dhanesh boarded a train at 11 o'clock in the afternoon, then at what time did
he board a train as per 24 hour clock ? \

(2) 21 o'clock

4) 23 o'clock

58.300 Do 2808 Ma& <, >, = Huus & D560 OGRS 2

RASTEISTT
13D7DE
W 5= @ <<
@) > = @ < >

59. Fod w8 3oy 37,50,000 5r3csr08 T3k, es 39y 530 s 7,25,000 8 oo 506356
a2 Sonod®. e gey % e 3 B3 a00% 0SS, e o ofo 383 2 o BrIrche

oo HIR?
- (1) 5,00,000 (2) 50,00,000
(3) 44,75,000 (4) 49,50,000

60. B S0 o £)80 3% Ty 6 20.0> 806 36 A $ode flo B)Fo0 B8, Ty, s‘énﬁ -
“ 008 Sgrpoto AB dod? N

(1) 3 30.5

(3) 12302

(2) 326

S0 S0 11 Koeso® & 5
) ) Moo wind’ SrEyV

Boagzmo 11 fotaess

o 12 6
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(3) 590

% FEeedd 2300 daysyes’ 70 r‘ S =
;% 0 a0 2, 59 LroBc S B
o8 530 Srgiyms & 58:% e o 10‘86%5) 538w Grogs5dn o 336, vons

,(l“) 1610 (2) 690
- (3) 5% (4) 1410

3,97 89 80305 830 63D SaSEAs 98 3 06 vele Hoay
SBTAD SArEH 0 03) 265 @ode Sowg Sotd Jod 346-,

(2) 94941
(4) 76941
CRC
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67. Vishwas bought 5 dozen copies at Rs. 10 per copy. 5 copies were found
damaged. He sold the remaining copies at Rs. 715, In this transaction, how
much profit per copy did he make ?

(1) Rs. 13 (2) Rs. 3 (3) Rs. 115 (4) Rs. 12
68. 7x5-2%x3+4="
1 21 (2) 67 (3) 33 @) 147

69. The capacity of a water tank is 140 [. ; part of it is filled with water. Fow
many liters of water is required to make it full ?

(1) 60L (2) 70L. (3) 80L (4) 901.

70. Shrikant drives a vehicle at the speed of 85 km/hr, For how many hours will
he have to drive to cover a distance of 595 km, if the speed remains the same ?

(1) 7 hrs (2) 6 hrs
(3) 8 hrs 4) 5 hrs

71. Deep deposited Rs. 2000 for 4 years at the rate of 8 p.c.p.a. Pari deposited Rs.
4000 for 4 years at the rate of 4 p.c.p.a. Then what will be the relation between
the amount that they will receive after 4 years. ?

(1) Deep will get more than Pari
(2) Deep will get less than Pari

(3) Both will get the same amount
(4) Pari will get more than Decp

= Sy

0701/ Telugu Set-A

67, D35 10 87 a$e%s .8 w5 (Sl Figys 5 desy, wbes 30y, vesss' 5 shes

B3AD00TecS MADS 5oy vy 715 srIranets wdbs. B1 HSHBe® wIDE 50 =H
258 30 BrdAH0 o voxeaT s -

a ()13 @3 3) 115 )12
| ";6\8.7 x 5-2 %3+ 4= 2087
r_ 1) 21 ) 67 @) 3 ) 147
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72. How many number of triangles and squares are formed in the given figure ?
72. 806 e&.)ﬂé' @RS IY) Pehmrer HbaSn SdaByred SASTERB?

G) 5.6 @ 4,4 L G) 5, 6 ' @ 4, 4
-,

@ 4,2 2 5,5 ) 4, 2 @5, 5
73. What will be sum of first and last number if 32976, 23976, 32796, 23796 are
arranged in ascending order ? ) ‘ 73. 32976, 23976, 32796, 23796 & Somgoss e B3 0B85 2nLs SO DB
-y uazpso 2ud0 Jos?
56 772 - !
&) ! @36 292 s T wsem () 56592
(3) 56 952 4) 56 772 : g : @ 56772

74. How many times + should be added to 2 50 as to get th
(1) 49 @ 48

@ 7 . @ 14 R

75. The ‘population of Sakoli village is 1,54,389. 1, 08,457 ‘people t
‘How many people do not have mobile ? - N

(1) 45,832 (2) 45,932 Lo 7
T (3) 45,942
(3) 45,942 4) 55,942

e v 7&/ — —————
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